O00000000 2019 (g)

gobooboobboooooon
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ooo

GLMM is a simplified Hierarchical Bayesian

Model
BRETILORR
WEEES
s
sorams ——fLIRTR A ETIL
BEtETUVIE] (GLMM) Bl
{Bikz= - JrE
EVWSEEHR —
fhomotn = —RILIEFE TIL G
ERHEUND &ANZEE
B NBWMET

e GLMM: (individual differences) + (group differences) + - - -

ooooooood

(Generalized Linear Mixed
Model) D0 OO OOOOO

good

e HBM: to estimate posterior distributions
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. dgooobbooooooobood

oo +000400obooo

You can not neglect these “differences”
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e 00O ODOOOOOODDOO w, UOODDOOOODOOONO
oo
e J00 1000000 10DD0D0DODODOO (OO 10000)
e 000000 (f;=C)50 (00 5000)
e 00DDDOO (f;=T)50 (00 5000)
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y: number of seeds

> d <- read.csv("dl.csv")

> head(d)

id pot f£

1 1 AC 6
2 2 AC 3
3 3 AC19
4 4 AC b
5 5 AC O
6 6 AC19

kubostat2019g (http://goo.gl/76c4i)

e id: OO0
{1,2,3,---,100}

e potJ: 0000 {A, B, C,
L0}

e f:00: 000000 C,
oo T

eyO0:000 (DOODO)

000000000 2019 (g) 2019-08-06

6/42


http://goo.gl/76c4i

oooooooooooont

8_
o J
o B
2N AA [
g by E @ |
9_ A G ||
A E @H
A c
A %§§ é¥ = nk
=7 T A @ T éng IEEE: T |I “HJ\)MJJIJ
0 20 40 60 80 100
dsid

® plot(d$id, d$y, pch = as.character(d$pot), ...)
e JOO0ODODOOO0O OOOODOOODODO?
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Plot your data!

8_
X J
- B
ém_ o b e G I I
e_ A G ||
. @H |
A I
o1 a @% & I%ﬁﬂfﬁ%w' Sy
0 20 40 60 80 100
d$id

e 00 OO OOOODOODOOOODO?
e (0)OOODOUUOUDODO UUUDDDDODOD DODDODOOOOO
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individual + pot differences

[e]
o_|
® .
1 [e]
o |
o_| 1
N - : -
| - '
| |
o 1 e
- |
..M
[
o _L!!-'-_._E_._—"'E
T T T T T T T T T T
A B C D EF G H I J

® plot(d$pot, d$y, col = rep(c("blue", "red"), each = 5))

e 00000 random effects 00 OO 00D ooooo
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(DOoDODO)boOoooooooooooo
Jogooogd

RETIVORRE
Jan . N . WEEE AL
LN Z:E(I-?B_M))l/ MCMC
vocams ——fLIRFREET I
BEEFY L TE (GLMM) .
BiAE - B
EVS TR -
EHDOHPVEL — &R E T I GLm)
ERSELUAD /& =N_FE
EEATERS N_RET M
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GLM: 0000000 D0ODOOOO

> summary(glm(y ~ f, data = d, family = poisson))

L@
Coefficients:
Estimate Std. Error z value Pr(>|zl|)
(Intercept) 1.8931 0.0549 34.49 < 2e-16
fT -0.4115 0.0869 -4.73 2.2e-06
L@)...

e 000000 (f)DOOLDDOOUDDOOODOOOY
e AICOODDOODOOOODDOODOOOOD
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GLMM: 00000000 ODOOOODOOO

> library(glmmML)
> summary(glmmML(y ~ f, data = d, family = poisson,
+ cluster = id))
(D
coef se(coef) z Pr(>lzl)

(Intercept) 1.351 0.192 7.05 1.8e-12
T -0.737 0.280 -2.63 8.4e-03

N (ED I

e JOODOODO?
e JOJODOOODDOOODOODO?
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HBM: individual + block differences

e 000D logOOOOOODOO
e 000D log\) =a+bfi+ (000)+(00000)
e J0ODODDODO

e 0 a0 £000 600000000
e JOJ0O0O0O0OODOOODOOOOODOOO

e 00O o, OODODDOO
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Diagram of the Hierarchical Bayesian Model

F—4 F—4 FRAEE)
BEEOEFHYLVE  FEELIE Fli]
4 EARE

/ rp[Pot[i] ] < ...,
IRV R { IEHZK%

"3 lambda[i] €— r[i] =

RESHAE.  BESNAT
cmEmE /N ﬁ;u4@m§@5 m:;b]ﬁmﬁiw

. betzif[ H e ti__l 2] 7 5o X5DoE
BERBAAG ) B bk
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JAGS: to estimate posterior distributions

FE&DMHSD
SYSLYYTIL

==z£
BUG S [=Q=18] Trace of beta[1] ___Density of beta[1]
B o]
—_ A ““““,..o"" , —
ETILOBE - £ =
~ 2] OE
g — 9 t 270 b0 | 1300 | 230 | 1sts | 1525  1sbs | 1sac
— Iterations N'=3000 Bandwidth = 0.0479
o = Trace of beta[2] Density of beta[2]
INSA—8— 4 o 3
ASEHE E .
A o <
§ S

~ ~ * $ R B S B S N R S S B
‘U‘J,|JJ{7 0 500 1500 2500 3 4 5 6 7 8
& terations N=3000 Bandwidth = 0.08514

D .

Input Output
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000 +000000000000000 BUGS code (1)

model
{
for (i in 1:N.sample) {
Y[i] ~ dpois(lambdalil)
log(lambdal[il) <- a + b * F[i] + r[i] + rp[Pot[i]]
}
# J000000000000000O0

e JOJUOODODDODO fe{c,T}OODOOOO FIJDO 0, 1000ODO
go

e Pot[il O 1, 2, Lloooooboobooooboobooon
Ooboooooo rpl...] 00000ODO
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000 +000000000000000 BUGS code (2)

# J00o0ooooooon
a ~ dnorm(0, 1.0E-4) # OO
b ~ dnorm(0, 1.0E-4) # DO OO0
for (i in 1:N.sample) {
r[i] = dnorm(0, taul1]) # 00O
}
for (j in 1:N.pot) {
rp[j]l ~ dnorm(0, tau[2]) # OOOO0O (DOOOO)
}
for (k in 1:N.tau) {
taulk] <- 1.0 / (sigmalk] * sigmalk]) # 00 0O0O0OOOOOOO
sigmal[k] ~ dunif (O, 1.0E+4)

}
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gooooooooooo 000 + 00000000

MCMC sampling

blic_htnl/stat/iwanamibook/fig/hbn/nested/model .bug. txt", fit using WinBUGS, 3 chains, each with 51000 itera

80% interyal for each chain R-hat medians and 80% intervals
A2 Q2 4 1152

betal

beta2 —_—

Sp: =

*r —_ betal 1.5 \
1
0
! \

i
j
gl
I
0
-

beta2

i

'
2
ot ,mwm " Hmmu‘ 4 i
G

LusTEN R UB BN AR RDR U BT
4
2

ot 1 (}

-2 lzltss7l|w

M

= L
2 0 4 1 15 o+
array truncated for lack of space

-4
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|

T T T T 1T T
0 200 400 600 800 1000 4 3 2 - 2
Iterations N'=1000 Bandwidth = 0.149

mean sd 2.5% 25% 50% 75%  97.5% Rh
a 1.501 0.529 0.482 1.157 1.493 1.852 2.565 1.0.
b -1.016 0.706 -2.436 -1.476 -0.993 -0.565 0.395 1.0
sigmal[1] 1.020 0.114 0.822 0.939 1.014 1.089 1.265 1.0
L@

Example data was generated under “(fertalization

effects = 0)”
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”””” gooooooooo 000 + 00000000

Posteriors of Block (or Pot)

B

1]:3}%%5 difference

kubostat2019g (http://goo.gl/76c4i) 000000000 2019 (g) 2019-08-06 20/ 42



http://goo.gl/76c4i

Do not neglect individual and groups differences!

e random effects D00 DO00DDODOODOOOO0O
0d

e randomeffects O 000 O0000OO0OO fixed
effects 0000000000 0OO0O—00000O0OO
oo duoodgduioooodooogd
g

e JO000ODOOODOODDOODOODDODODO!

e [JJULDDO0OOLLUOOLULLUODOLDLOLO
gobgobdoouoobobobooboobogd
obbooboooobooooboon
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777777 goooooooooo 000 + 00000000

differences both in plants and pots

OO0 + 0000 GLMM 1

(A)0O0ODOO0oO0oo0o0
Oodooodoo
oooood

o o, loEi = Bt fom (GLM)

¢gi: UO0oooon

o

()00DDDOO0OOOOOODO
o0 .o ooooggoog

° 0000o0o0o0ooon
logitq; = By + Boxi + 1
o o, e R

00000000 (A)(B)D0OOO0O00000000000O0

kubostat2019g (http://goo.gl/76c4i) 000000000 2019 (g) 2019-08-06 22 /42


http://goo.gl/76c4i

”””” gooooooooo 000 + 00000000

differences both in plants and pots

000 + 0000 GLMM 11

(C)DODO0D0DODO0OO
Jouooooooo

oooboooood

gjﬁz g;; logitg; = B1 + Boxi + 1

)00000000000
oo oo ce oo LU OOOOOOO

e ooooo

gjﬁ gg logthZ 61 =+ 621'1 + 7 + Ty

gboboobooboobbooboobboobooboo
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GLMM 000000000 (HBM) O!

e NOJ0UDOODDOOODOODDOOODLOODDOODbDOODDO
oooooooon

000000000 random effects 0000 OO0

O00000: 0000000 global parameter O local parameter
ooooooooog

GLMM 0O O global parameter 0 0 O 0O O O O — local parameter
ooooooono

local parameter 0 0000 (eg. 000 +000)0000000
0 - 00000000 (Hierarchical Bayesian Model) D00 00O

(posterior) O O!
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gooooO0oOoooooo 0000000: “00000” (paired) 000000

2. 0000000000000

O00000OO0: ‘000007 (paired) DOO0OOO
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hogs

TN CUSAZAZ BRI A, | DNRENG

DEEE:

MBI T>INZEOEROMEHY?

IWANAMI
DATA

SR T — XA

ERF—FYA TUARTRRE-.

’\’f Z?ﬁnw—
|
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aiiuisisiuisiafulsiaisisll OO OO000: “O00007 (paired) 000000

WESNEE: BEI1 T NFEDEEDHBU?

BEH BE BEY1ZX  SEOTH (M) SEORERE
(8) 247 1[EB 2@EE 1EEB 288 1EE8 2@EA8
A T 55 51 151.36  157.27 2.9 2.98
B T 53 49 151.56 156.83 3.07 314
C C 55 53 152.22 157.08 3.20 321
D T 53 52 153.09 156.00 2.65 2.64
E T 58 55 153.22 157.24 3.07 3.03
F C 55 53 153.31 157.22 3.10 313
G C 58 53 152.98 157.81 2.49 2.45
H C 59 57 153.27 158.95 3.08 3.06

| T 56 51 152.67 156.82 2.82 2.92
J C 56 50 155.37 161.71 310 321
e T @w®) A, B, D, E, I =
-wesr> C @ :C, F, G H J =

AR f=T OEOIREG 0!
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aiiuisisiuisiafulsiaisisll OO OO000: “O00007 (paired) 000000

Sample size Mean SD
City Treatment year 1 year 2 yl y2 yl y2
A T 55 51 151.36 157.27 2.94 2.98
B T 53 49 151.56 156.83 3.07 3.14
C C 55 53 152.22 157.08 3.20 3.21
D T 53 52 153.09 156.00 2.65 2.64
E T 58 55 153.22 157.24 3.07 3.03
F C 55 53 153.31 157.22 3.10 3.13
G C 58 53 152.98 157.81 2.49 2.45
H C 59 57 153.27 158.95 3.08 3.06
I T 56 51 152.67 156.82 2.82 2.92
J C 56 50 155.37 161.71 3.10 3.21
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oooo0O0oOooooooo 0000000: “00000” (paired) 000000

(=) 7T—4%: HBLEREE

b =2

—a— C

HAE
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sisfsisisfalslslslslslsls@l - CCCCC0C: 000007 (paired) 000000

A X7 GLM: bad model 1

It BR EART A X BROTY (cm) BROZERE
(8) 2«47 1EEB 2E8EB 1EE 2688 1EHE 2688
A T 55 51 151.36 157.27 29 2.98
B T 53 49 151.56 156.83  3.07 3.14
C C 55 53 15222 157.08  3.20 321
D T 53 52 153.09 156.00 265 2.64
E T 58 55 153.22 157.24  3.07 3.03
F C 55 53 15331 157.22 310 313
G C 58 53 152.98 157.81 249 2.45
H C 59 57 153.27 15895  3.08 3.06

| T 56 51 152.67 156.82 2.82 2.92

J © 56 50 15537 16171 310 321

() fit < glm(y

BIEEE :  t
BB f

kubostat2019g (http://goo.gl/76c4i)

~ ot tif, )

1 &zi& 2 (0 EH, 2 BER)

C &Freld 1

000000000 2019 (g)
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A X7 GLM: bad model 1

160
I

C

156
I

FROFH (cm)

©
A

152
|

1 B8 > B
Az

() fit < glm(y ~ t + t:f, - )
BE@#E: t=1FkEF 20 @B, 2 @)
WRATT: f=C F@E 1T
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XJIt (paired) HERINTEHEW !

WRY17
s ;H{ 7]
~34 P ¢ ~3
T T
Bo B o
SE S 10
X X
1| S -
o o i
n — N — 1
- ‘ - 4
1 @ > EE 1 B8 > EIE
AIE AIE
A X7 GLM: bad model 1
glm(y ~ t + t:f, - )
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sisfsisisfalslslslslslsls@l - CCCCC0C: 000007 (paired) 000000

bad model 1(CKDB—ENDBEDEAL

2 p <0.05 £
. BEENEFICHL
g

g

r I | | | |
oo oz 0.4 0.6 0.8 1.0

p-value
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R & JAGS

E&OMHSD

BUGSE &R

Trace of beta[1]

SUSLYYTI

Density of beta[1]

— st e 1 =
™ 2] ]
EFILDEE - E:m <
— ] o
F—S& BT o v wbn| Cima ma ! mhs | e
—_— Neraions NZ3000 Bandwidth = 0.0470
= _ Traceofbetal2] — Density of beta[2]
l%jx_g_ / N Trace of beta| = Density of belal
MDIERfE " -] WM 3
-~ I -~ » T T T T T T T < T T T T T T
YFIVE B T et

DM N\
Input
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iniuiuiaininiuinininininl OO OO O000: ‘000007 (paired) 000000

bad model 1T % Bayes model 1t

T—5 T—75 BB Agelil
FHABRK mean.Y[i] BES 1 X[il
] muf[i],
sd »

BENO¥ mulil]

‘“‘““__,..ybe tafkl RN
L4 4 fEEW .
-10, 10° Lo , 10
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aiiuisisiuisiafulsiaisisll OO OO000: “O00007 (paired) 000000

bad model 1(CKDB—ENDBEDEAL

200 400

/\/

0

246

T T T T T
-6 -4 -2 0 2 4

AR EREMNCEX MR

iaR f=1 OEDRR(L 0!
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iniuiuiaininiuinininininl OO OO O000: ‘000007 (paired) 000000

bad model 2: #HRIBINIL Bayes hR

Trace of beta[1 Density of beta[1
- 0|
0 8
37 ]
s g
=T T T T T T T o T T T T T T T
0 500 1500 2500 130 140 150 160
lterations N =3000 Bandwidth = 0.7646
Trace of beta[2] Density of beta[2:
- w|
o &
- e
2
I B
7N\«\\~Mvv~d/ g
3 i
@ T 1T 1T 1T g LI S
0 500 1500 2500 80 -40 0 40
Iterations N =3000 Bandwidth = 4.88
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Hierarchical Bayesian Model

*
{ror, roor b= 02 o B P
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oooo0O0oOooooooo 0000000: “00000” (paired) 000000

Hierarchical Bayesian Model

TV OFiRio
5K mean.Y[i,]]

F—=5 EHEED
EAEERE sE[i,7]

T—5 HHE Age[i]
WBEAY-1 T X[j]

......

SE[i,]]

. o ‘/g
%E@it’z}n'u[lfjl =l

M_beeta [k]
i’”
.,
_ 4 4 ﬁ'l‘ggﬁ !
10, 10 ERINTE
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gooooO0oOoooooo O0D00OO00OO0O: “00000” (paired) DOOOOO

Hierarchical Bayesian Model
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iniuiuiaininiuinininininl OO OO O000: ‘000007 (paired) 000000

Hierarchical Bayesian Model

(C KDHETERERE

bad model 1 g /\ /p= 0.0246

1434

HBM
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iniuiuiaininiuinininininl OO OO O000: ‘000007 (paired) 000000

ZED local parameter
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